PLS 917

L)
222222222222

LR
Y5 THkE
R VI R R U

B RADKREMES | Rmax.16 umbLICHEE
B RADHFARAE - h8/HS

d| D| D+
o B K =E HE kxR (MY BE
NLo &7 | 8 | KRR )
dxD | Di| Li [ L|Ls| B 0T 0 (N | N | 14X Nm Kg
20x 47 | 56 | 17 | 22 | 28 | 34 280 | 26| 217 | 92 | 5 |M6 x 20 17 0.29
22 x 47 | 56 | 17 | 22 | 28 | 34 310 | 26| 197 | 92 | 5 |M6 x 20 17 0.28
24 x 50 | 59 | 17 | 22 | 28 | 34 330 | 26| 181 | 87 | 5 |M6 x 20 17 0.32
25x 50 | 59 | 17 | 22 | 28 | 34 420 | 34| 209 | 104 | 6 [M6 x 20 17 0.31
28x 55 | 64| 17 | 22 | 28 | 34 470 | 34| 186 | 95 | 6 M6 x 20 17 0.37
30x 55 | 64| 17 | 22 | 28 | 34 500 | 33| 174 | 95 | 6 M6 x 20 17 0.36
32x 60 | 69| 17 | 22 | 28 | 34 710 | 44| 217 | 116 | 8 |[M6 x 20 17 0.43
35x 60 | 69| 17 | 22 | 28 | 34 780 | 45| 199 | 116 | 8 |M6 x 20 17 0.40
38x 65| 74| 17 | 22 | 28 | 34 850 | 45| 183 | 107 | 8 [M6 x 20 17 0.46
40 x 65 74 17 22 28 34 890 45 174 107 8 | M8 x 25 17 0.45
42 x 75 84 | 20 25 33 41 1510 72 227 127 7 | M8 x 25 41 0.45
45 x 75 84 | 20 25 33 41 1620 72 212 127 7 | M8 x 25 41 0.72
48'x 80 | 89| 20 | 25 | 33 | 41 | 1730 | 72| 199 | 119 | 7 |[M8 x 25| 41 0.82
50x 80 | 89| 20 | 25 | 33 | 41 | 1800 | 72| 191 | 119 | 7 |M8 x 25| 41 0.78
55x 85 | 94| 20 | 25 | 33 | 41 | 2260 | 82| 198 | 128 | 8 |M8 x 25| 41 0.85
60x 90 | 99| 20 | 25 | 33 | 41 | 2470 | 82| 182 | 121 | 8 |[M8 x 25 | 41 0.90
65 x 95 [104 | 20 | 25 | 33 | 41 | 3010 | 93| 189 | 129 | 9 M8 x 25| 41 0.98
70 x 110 | 119 | 24 | 30 | 40 | 50 | 4730 | 135| 213 | 129 | 8 |[M10 x 30| 83 1.80
75 x 115 [ 124 | 24 | 30 | 40 | 50 | 5070 | 135| 199 | 136 | 8 |[M10 x 30| 83 1.96
80 x 120 | 129 24 30 40 50 5410 | 135 187 130 8 [ M10 x 30 83 2.18
85 x 125 [ 134 | 24 | 30 | 40 | 50 | 6460 | 152 | 198 | 124 | 9 |M10x 30| 83 2.27
90 x 130 [ 139 | 24 | 30 | 40 | 50 | 6800 | 151 | 187 | 134 | 9 |[M10x 30| 83 2.37
95 x 135 | 144 | 24 | 30 | 40 | 50 | 8000 | 168 | 190 | 138 |10 | M10 x 30| 83 2.58
100 x 145|154 | 26 | 32 | 44 | 56 | 10000 | 200 | 183 | 142 | 8 |M12 x 30| 145 3.33

X YUY T AA RBBWEEDFNERZEIR0.02mm~0.04mm

EVN 117



